1. 16 9 ABE % AL 59 121 O ABE F 2 50 G 7597

-1 04 ©@r @15  ®2

16 O] AlFT-2 +4 o)1 121 9] AlFE2 +11 °]t}. 16 9] AlF2
S s 4oln 121 Y AFLT ST EFE 110 11-4

=7l




v81 V100 | Vo Jo.or Ved

Vo Vi3 | Jag /16 V25

4
%@ 32

t

o rr
£ 4
Ly
ol Y

4

Va9 | V15 [ V120 | /20 | V36

V/-0.9 V18 | Jo.4 /-16 0.09

/=36 V38 /-9 V8 | /4

-5 15 16 0 25
-10 -0.3 3 8 11
-1 6 -6 0.1 -4

=7 -10 -13 5 12

\VARR 4
0x
i

74

V8l |Vi00 | Vo |Vo.or | Ves
Vo | V13 | Vs /-6 | V25
V49 | Vis | /120 | V20 | V36
—0.95./@.@@
'ﬁ' | | vy

V3 | V-9 | VB

-10 -0.3 3 8 11




@ V32— /(-5)2+ V22 =3-5+2=0
@ (22~ (-V3)2- V52 =2-3-5=—6
22 9 6\ 2 3 6 1
® (2)+vg- () -2+3-1--
2
omx T+ (3) =2xde=3
® V32+ V2 - \/(-5)2=3+4-5=2




4.

x>2d M, Hes T

@ -2 @ -1

(x=2)2 -

o)

Vi(2-x)?% 9 32

@ 1

® 2

x>20B2 x-2>0,2-x<0

() = (x-2)-
~ (x-2)-

{-2-x}
(x=2)=0




5. VID—x o ol AA5T} SRS She AP &S Aelg x?

@1 @4 @7 @ 10 ® 15

V36 o]|B2 x = 40|t}




Fafol

AFoHA 2 < x% < 17 ©]
kA 3 7ol




t}o-o 2214 9o Az ABCD & 13 Zoltt, A P o 25}
L Aol e dntelr}?
p C
< v Al B >
o P 1 2 3
D 1-+2 @ 1-+3 3)2 - V2
@ 2-+3 ® 2-+5

A7+ ABCD o] fjzh4e] Aol va
AP YHAFL2- 2




8.

ART8 S A,81 9 S ARTS BT S u, A+B PSS
-otofet,

Ch "
H -

>
> & A+B=0

(AJZ81)= V81 =9,4=9 0|1
(81 2] 2] AlFL)= - V81 = -9, B= -9 °|t}.
T2t A+ B =9+ (-9) =0 °|th.




a<0 %, VoIaZ & 2] Ao &

O -64a> @—8a ® 8a
@ 8a? ® 644>
8a < 00| B2

V64a? = /(8a)? = —(8a) = —8a




10. a>09 o, /(—24)% - V942 & 7teHs] shd?

@ -1la @ -Ta ® -5a @—a

V4a? — V9a2 = 2a—3a = —a




O
=

o, g4 a o] g

7_‘%

00] obd 714 2he A4z 1

O
=

18x a °] %k

11.

sholat.

:TL

-

ull

S.a=

V3xX3X2Xa

18 X va




12,/ 2x 7k AaLst RS Sl g 2L 44 x 8 Fatolt

2
@x:2x5 Xx

|=! - —go
3 3 B2 x=2x3=6 ot}




13. o= 27 & &4 @2 A& BF 2w

O x=12 1, VI5FzE Ad47} 9t
© x=3 2 W, VAT E AA57} Het.
© r=492 W, VDT E A5} Het.
® r=62 W, VB FxE AA57} Het,

60 066 066 ®oe Goe

~&B

Ox=3%2 W, V24 +x = V27°]1 272 AFL7F oty ER
AA47t =2 g

@x=69%Ym, V8 +x= V91°]1 912 AlFL7t op 2
AA4=7t =2] et




14.

@ -V3>-v2 O -2v2>-V12
© Vil>2+3

ve e 0060 @Doe 006

~&B

@2<3°]8B2 V2< 3

whebA] -2 > - V3 o[t}

O©-2V2 > -V12 (O)

© ViI2=11<12=(2V3)2 °]E&2 V11 <2V3




15, \/(4-2V8)" - \/(3V3-4) & qrets] spedef,

2V3=1V12<4=V16< V27T =3V3 o|E&E

V(4-2v8) - /(3v3-4)"
:4—2«/5—(3«/3—4)
=4-2v3-3vV3+4
=8-5V3




=2 25 E UEY
stofet,

o AT O
= T
20| M52 7

16. ot

.7 V25— V3, V3, -2

L
100

cfrEleE s el

<
s
il
2
|
I ATAT
2 o
o
e




® 258 g5t R 4 Fol Fel47} o 4= 9k,
) Vi =2




18. e =

Tral*r~|: 0—4 g
{:M” oh

5

O V5+1 - _g .
@—«/m o oot
§7ko] S0 gol= Fajsolrt
B2} obd AL Zht},
289 —
®-V289 = -/ {55=- (E> By




19. the T Zo] A4 Slof 5 wio] Lol7h1 9 FAAG S 1
Zelth. A, B, C. D, E 9| HEE &7 78 222

/ \ / \
\ / ! \

I/ \
v 1 v y o
A-1 0BC1 D2 3E 4

<
<

D A(-1-12) @ B(V2) ® C(1-v2)
@n- v2) ® E@2- v3)

A(-V2) , B(-14+ v2) , C(2- V2) .D(3- V2) , E2 + V2)




20. ke § ¥e Aol 191 A

A , .
of sl =2 Aol e85k H A, B
o] 2:7t 27} Ala), B(b) et o ! '
W, a+b o] 3k Faholat. go Lt
> =
> HE a+b=

AR o] gt H o] o]zt 1 o]B 2 izt 9] Aol 20|t
IYBEE A(l- V2), B(\/_) ojt.
na=1-+v2, b=




Al

o

Mo

21. =5

O© 0-& AlFo] i

©@) V362l Mmoo Ag2e 2ot
® V16 o AlFTL 4 T 40|t}
@ 19] AlF+2 1700l

® -2+ -49] Z9] AFLolet

B

@ 09] AlF2 0°]tt.

® V16 o] AlFTL -2, 2

@1—47\1]1:11_8—1 1
2 AlELE i

[©]




22. o BI)OlA &4 o2

H7
() 49 o] AlFEL £7 olt}
L) Vidd o] AB2e +12 o]t}

(©) 200 ] AlFE2 +20 o]t}

@ -4 9 Ala2 ik
(@) — V25 = -5 9 2}







24. a>09u, T F 84 gL AL

® Va?=a @ (-vVa)?*=a
® (ViP=a  © V@ =-

~&B

a>0 % o,

@ VaZ=a

@ (-vVa)?=a

® — a — N =
@ (Va)? =a

® - Va? = -a




D V75<9 @ -V3<-v2

)03 > Vi3 @_\/}_ !
1 1

© B>V

0.09 < V0.3 ©]B22 0.3 < V0.3 °|t}




